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= 10,010
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2AHd Jl=ZH| 27,300 55,881 A 28,581
201 £B-2dH| 10,500 7,980 2,520
01 At 22l 10,500 7,980 2,520
OJlegs =2 35,0003 25 «12& 10,500
202 oddl 12,000 9,120 2,880
01 = LH o4 1l 12,000 9,120 2,880
OJlegs =& 12,000, 000& 12,000
203 YR =] 4,800 4,200 600
04 FEANSEHE=LH 4,800 4,200 600
O&FA 252 0lat 400,000& x12& 4,800
GEALR tH3dl XI& 38,303 0 38,303
= 10,010
s 28,293
101 @14 Hl 38,303 0 38,303
2 10,010
s 28,293
03 RIAHAZ 2T E =+ 38,303 0 38,303
OO0l MRUH(SRA) A 38,303
—Jl=s 1,795,310« 18« 128 21,544
2 5,630
s 15,914
— =AM 80,000& x1H » 128 960
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s 709
— n sl 60,0003 x1H » 128 720
= 188
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—Jlz=g 1,795,310 =1 »43] 7,182
= 1,877
[ia 5,305
— BE S0t 1,795,310& 1 »23| x60% 2,155
= 563
s 1,592
R SPNE =RV E =, 74,0803 x1H x102! 741
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s 547
— A2 R 13,8903 12 «30Al 2t<12& 5,001
= 1,307
s 3,694




